| RecoVix_vs_GenVix

60

50

Reco vertices

40

30

20

10

&

TT T T T T T T TTT1T

.......................

Ratio

0.95

0.9

...............................................

o

30 40 50 60
Simulated interactions

Matc

hedRecoVtx_vs_GenVtx

60

50

40

Matched reco vertices

30

20

10

Ratio

......................................................................

30 40 50 60
Simulated interactions

20

E V —Di> ' e‘*ée 2o e‘fté’fg&f glth 0
breICREIEmblate Lt Srend "ol ihan erajpatozg
[ Merged vs Closest) == 5 - I%SSBE mgrr i .2 e S &%81888%%3&58%8%58

@ 0.05
©
®.045
>
D)
£0.04
0.035
0.03
0.025
0.02
0.015
0.01
0.005

-2

1 -1
Closest distance in Z (cm)

.045
9]

= 0.04
0.035

rg%rat

0.03
0.025
0.02
0.015
0.01
0.005

.....................................................................

Q

15 20
Z (cm)



	Contents
	Page 1


